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'DODP� PHQJKDGDSL� NRQGLVL� LQGXVWUL� EDWXEDUD� VDDW� LQL�� 37� ;<=� PHPLOLNL�

IRNXV XQWXN� GDSDW� EHUWDKDQ� GDODP� PHQJKDGDSL� WDQWDQJDQ� VDDW� LQL�

VHNDOLJXV�PDPSX�PHQJKDGDSL�SHUVDLQJDQ�GL�PDVD�\DQJ�DNDQ�GDWDQJ��+DO�

WHUVHEXW� EHUXVDKD� XQWXN� GLZXMXGNDQ� VDODK� VDWXQ\D� PHODOXL� VWUDWHJL�

PDQDMHPHQ� VXPEHU� GD\D� PDQXVLD�� 2OHK� NDUHQDQ\D� SHQXOLVDQ� WHVLV� LQL�

EHUWXMXDQ� XQWXN� PHQ\XVXQ� UDQFDQJDQ� SHQ\HPSXUQDDQ� VWUDWHJL�

PDQDMHPHQ�VXPEHU�GD\D�PDQXVLD�37�;<=�SHULRGH������������

3HQHOLWLDQ�LQL�PHQJJXQDNDQ�SHQGHNDWDQ�JDEXQJDQ��PL[HG�PHWKRGV��\DLWX�

NRPELQDVL� GDUL� SHQGHNDWDQ� NXOLWDWLI� GDQ� NXDQWLWDWLI�� GHQJDQ� PHWRGH�

SHQJDPELODQ� GDWD� EHUXSD� VXUYHL�� ZDZDQFDUD� GDQ� VWXGL� GRNXPHQWDVL��

0HWRGH� ,PSRUWDQFH� 3HUIRUPHQFH� $QDO\VLV� GLJXQDNDQ� GDODP� SHQJRODKDQ�

GDQ� DQDOLVLV� KDVLO� NXHVLRQHU�� VHGDQJNDQ� KDVLO� ZDZDQFDUD� GLRODK� GDQ�

GLDQDOLVLV� GHQJDQ� WLJD� ���� ODQJNDK� \DLWX� �� UHGXNVL� GDWD�� SHQ\DMLDQ� GDWD�

VHUWD�SHQDULNDQ�NHVLPSXODQ�GDQ�YHULILNDVL�

6WUDWHJL�PDQDMHPHQ�VXPEHU�GD\D�PDQXVLD�GDODP�SHQHOLWLDQ� LQL� EHUIRNXV�

NHSDGD� HPSDW� DUHD� \DNQL� UHNUXWPHQ� GDQ� VHOHNVL�� SHODWLKDQ� GDQ�

SHQJHPEDQJDQ�� PDQDMHPHQ� NLQHUMD�� VHUWD� NRPSHQVDVL� GDQ� EHQHILW��

6WUDWHJL�NHHPSDW�DUHD�WHUVHEXW�PHQJDFX�NHSDGD�YLVL��PLVL��WXMXDQ�VWUDWHJLV�

SHUXVDKDDQ�� GDQ� WLSRORJL� SHUXVDKDDQ�� 3HQ\XVXQDQ� UDQFDQJDQ

SHQ\HPSXUQDDQ� VWUDWHJL�PDQDMHPHQ�VXPEHU�GD\D�PDQXVLD�DNDQ�WHUEDJL�

PHQMDGL� WLJD� ����EDJLDQ�\DNQL� VDVDUDQ�� VWUDWHJL�GDQ�NHELMDNDQ�\DQJ�DNDQ

GLLPSOHPHQWDVLNDQ�� 3HQ\XVXQDQ� UDQFDQJDQ� LPSOHPHQWDVL� VWUDWHJL�

PDQDMHPHQ� VXPEHU� GD\D� PDQXVLD� WHUEDJL� PHQMDGL� GXD� ���� \DLWX�

UDQFDQJDQ� LPSOHPHQWDVL� MDQJND�SHQGHN�\DQJ� DNDQ�GLMDODQNDQ�GL�SHULRGH�

�����GDQ� UDQFDQJDQ� LPSOHPHQWDVL� MDQJND�SDQMDQJ�\DQJ�DNDQ�GLMDODQNDQ�

GL�SHULRGH������������
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